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❖ এ প্রশ্নে পাশাপাশশ শিনশি কলাশ্নে বাক্াাংশ দেওয়া থাকশ্নব। A কলাশ্নের সাশ্নথ সঙ্গশি দরশ্নে B ও C কলাে দথশ্নক ৫ শি বাক্াাংশ 
বাছাই কশ্নর বাক্ তিশর করশ্নি হশ্নব।  

 
 

 (i)  প্রথশ্নেই েশ্নন রােশ্নি হশ্নব দে matching এ number দলোর পাশাপাশশ পশু্নরা বাক্শি দলোয় অশিক েশুিেিু। িাই শুি ু
 (a+i+iii) না শলশ্নে এিার পাশাপাশশ পশু্নরা বাক্শি শলেশ্নি হশ্নব। দেেন, (a + i + ii) = It refers to... 

 (ii)  প্রথশ্নেই Column A, B ও C এর সবগুশ্নলা বাক্াাংশ পশ্নে দেলশ্নি হশ্নব এবাং অথথবহভাশ্নব বাশ্নক্র গঠন অনুোয়ী (subject + 
 verb + object/extension) বাক্াাংশ গুশ্নলাশ্নক দেলাশ্ননার দেষ্টা করশ্নি হশ্নব দেন একশি পশরপরূ্থ অথথ প্রকাশ পায়।  

 (iii)  বাক্াাংশগুশ্নলা দেয়াল কশ্নর দেেশ্নি হশ্নব দে দসোশ্নন দকাশ্ননা ঘিনার বর্থনা আশ্নছ শকনা। েশে ঘিনার বর্থনা থাশ্নক, িাহশ্নল 
 ঘিনাশি বাশ্নক্র োি্শ্নে িারাবাশহকভাশ্নব দশষ করািাই দেয়। দেেন: ১৯৫২ সাশ্নল ভাষা আশ্নদালশ্ননর পর ১৯৭১ এর 
 েহান েশুিেশু্নের বর্থনা দেয়া অশিক পছদনীয়। 

 (iv)  বাশ্নক্র অশ্নথথর সাবলীলিা রক্ষার জন্য েশে দশশ্নষর বাক্াাংশ শেশ্নয়ও বাক  ্দেলাশ্ননা শুরু করশ্নি হয়, িবওু দকান সেস্া দনই। 
 (v)  িারাবাশহকভাশ্নব বাক্গঠশ্ননর জন্য প্রথশ্নে Noun এবাং িার পশ্নরর বাক্গুশ্নলাশ্নি Pronoun ব্বহার করাই অশিক েশুিেিু। 

 দেেন: Kazi Nazrul Islam is a great poet. এরপর He is our national poet. বলািাই অশিক েশুিেিু।  
 (vi)  সবথশ্নশষ দেয়াল রােশ্নি হশ্নব দে দকান কলাশ্নের দকান বাক্াাংশ বাে দগশ্নছ শক না এবাং বাক্াাংশগুশ্নলা শেশ্নয় তিশর 

 বাক্গুশ্নলার সশঠক অথথ পাওয়া োশ্নে শক না। 
 

06.  Match the parts of sentences in column A, B and C to write five complete sentences: [All Boards’18] 

A B C 

(a) Substances called acids (i) be very acidic in (i) and damage to human health. 

(b) Ordinary rain water (ii) are at risk (ii) known as acidity. 

(c) But rain can (iii) between acid rain (iii) slightly acidic. 

(d) There is a link (iv) is (iv) due to severe acid rain. 

(e) Many world famous buildings (v) have a sharp taste (v) severely polluted areas. 
 

 
 (i)  (a+v+ii) Substances called acids have a sharp taste known as acidity. (এশসড নােক পোশ্নথথ দে িীব্র স্বাে 

 থাশ্নক দসশি অম্লিা নাশ্নে পশরশেি।) 
 (ii)   (b+iv+iii) Ordinary rain water is slightly acidic. (সািারর্ বশৃষ্টর পাশন শকছুিা অম্লীয় বা অ্াশসশডক।)  

 (iii)  (c+i+v) But rain can be very acidic in severely polluted areas. (শকনু্ত অশিশরি েূশষি এলাকাশ্নি বশৃষ্টর পাশন 
 েবু দবশশ অম্লীয় হশ্নি পাশ্নর।) 

 (iv)  (d+iii+i) There is a link between acid rain and damage to human health. (এশসড বশৃষ্ট এবাং োনুশ্নষর স্বাস্থ্্হাশনর 
 োশ্নে একিা সম্পকথ আশ্নছ।) 

 (v)  (e+ii+iv) Many world-famous buildings are at risk due to severe acid rain. (এশসড বশৃষ্টর জন্য অশ্ননক 
 শবশ্বশবে্াি ভবন েুুঁশকশ্নি আশ্নছ।) 
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01.  Match the parts of sentences given in columns ‘A’, ‘B’ and ‘C’ to write five complete sentences:  

[DB’24; RB’20] 

Column ‘A’ Column ‘B’ Column ‘C’ 

(a) Punctuality is a virtue (i) person is (i) accurate in timing. 

(b) It helps (ii) which can make (ii) loved by all. 

(c) A punctual (iii) punctual we shall (iii) surely succeed in life. 

(d) He who (iv) is punctual never (iv) successful in future. 

(e) If we become (v) us to become (v) gets late in his work. 

 

 

 a+ii+iv; b+v+i; c+i+ii; d+iv+v; e+iii+ iii 

 

02. Match the parts of sentences given in column ‘A’, ‘B’ and ‘C’ to write five complete sentences: [RB’24] 

Column A Column B Column C 

(a) The function of education (i) which connects with efficiency 

(ii) should be 

(iii) is to teach one 

(iv) that intelligence is 

(v) may be the man who 

(i) not enough for a man. 

(ii) gifted with reasons and morals. 

(iii) to think intensively 

(iv) the goal of true education. 

(v) may prove the greatest menace  

     to society. 

(b) But education  

(c) The most dangerous criminal 

(d) We must remember 

(e) Intelligence plus character 

 

 

 a+iii+iii; b+i+ii; c+v+v; d+iv+i; e+ii+iv 

 

03.  Match the parts of sentences given in column ‘A’, ‘B’ and ‘C’ to write five complete sentences:  [Ctg.B’24] 

Column A Column B Column C 

(a) The Bay of Bengal 

 

(b) Cox’s Bazar that 

(c) The blue water 

(d) The Saint Martin’s Island which 

(e) The natural beauty of 

(i) and rising waves create a  

     pleasant sight 

(ii) is situated 

(iii) stretches for miles 

(iv) Saint Martin’s Island is 

(v) is located in the Bay of Bengal 

(i) is the longest sea beach in the  

     world. 

(ii) which cools our mind instantly. 

(iii) beyond description. 

(iv) is a coral island 

(v) to the south of Bangladesh 

 

 

 a + ii + v; b + iii + i; c + i + ii; d + v + iv; e + iv + iii 
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04. Match the parts of sentences given in column ‘A’, ‘B’ and ‘C’ to write five complete sentences:[SB’24] 

Column A Column B Column B 

(a) The role of woman in 

nation building 
(i) towards women has changed (i) the family affairs. 

(b) It is not possible (ii) when women were looked 
(ii) any more in the situation of  

      the world 

(c) There was a time (iii) cannot be denied 
(iii) with the progress of 

 civilization. 

(d) They were the only instrument (iv) for any nation to reach its goal 
(iv) without allowing the women  

       folk to play their active role. 

(e) But the outlook and attitude  

     of the world 
(v) to serve (v) without any dignity and honour 

 

 

 a+iii+ii; b+iv+iv; c+ii+v;  d+v+i; e+i+iii 
 

05. Match the parts of sentences given in column ‘A’, ‘B’ and ‘C’ to write five complete sentences:  [BB’24] 

Column A Column B Column C 

(a) Independence (i) fought (i) Place in 1971. 

(b) No nation (ii) joined (ii) face to face with the enemies. 

(c) Our War of Independence (iii) can achieve (iii) the birth right of a man. 

(d) People from all walks of life (iv) took (iv) the war. 

(e) They (v) is (v) it without struggle. 

 

 

 a+v+iii; b+iii+v; c+iv+i; d+ii+iv; e+i+ii 

06. Match the parts of sentences given in column ‘A’, ‘B’ and ‘C’ write to five complete sentences:  [JB’24] 
  

Column A Column B Column C 

(a) Price hike has added  (i) short supply of commodities 
(i) widespread corruption and moral 

     degradation. 

(b)  Price hike is caused by (ii) leads to (ii) to the problems of Bangladesh. 

(c)  The vast majority are  

       hard hit 

(iii) for the fixed income group  

       of people 
(iii) of daily necessities. 

(d)  It is very difficult (iv) a new dimension (iv) to meet up the excessive load. 

(e)  Pirce hike (v) by the hike in prices (v) and inflation. 

 

 

 a+iv+ii; b+i+v;  c+v+iii; d+iii+iv; e+ii+i 
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07. Match the parts of sentences in column A, B and C to write five complete sentences: [CB’24; JB’20] 

Column A Column B Column C 

(a) Patriotism is a great virtue (i) to be ready to fight against (i) themselves to work for the country. 

(b) It is such a virtue (ii) to be patriot and to be devoted 
ii) all oppressions that can hinder  

     our progress. 

(c) Patriotism inspires us (iii) that inspire children to prepare (iii) dream of a developed nation. 

(d) So, we all should 

encourage  our children 
(iv) without which we cannot 

(iv) to their respective duties and  

       responsibilities. 

(e) Radio and Television should  

      telecast programmes 

(v) for which a citizen doesn’t 

hesitate 
(v) to shed the last drop of his blood. 

 

 

 a+iv+iii; b+v+v; c+i+ii; d+ii+i; e+iii+iv; 
 

08.  Match the parts of sentences given in column ‘A’, ‘B’ and ‘C’ to write five complete sentences:  [Din.B’24] 

Column A Column B Column C 

(a) Now digital Bangladesh is  

     not merely 

(b) Already it 

(c) Now, we perform 

(d) At present trade and commerce  

 are held 

(e) The process of digitalization 

(i) using internet 

(ii) many activities through 

(iii) has made 

(iv) has paved the way future 

(v) an ambitious idea 

(1) Internet, computer and mobile 

 phone. 

(ii) rather it is now a reality. 

(iii) to build up smart Bangladesh. 

(iv) our life easier and more comfortable. 

(v) even staying home. 

 

 

 a+v+ii; b+iii+iv; c+ii+i; d+i+v; e+iv+iii 

09.  Match the parts of sentences given in columns ‘A’, ‘B’ and ‘C’ to write five complete sentences:  [MB’24] 

Column A Column B Column C 

(a) The present world is becoming (i) is the latest invention (i) and collect various information 

(b) Now a man from one part 

of the world 

(ii) with anybody in any place 
(ii) with the blessings of science 

(c) Internet-communication 
(iii) can communicate with a 

person of another part 
(iii) in a second through the Internet 

(d) A man can make friendship (iv) can use the London Library (iv) in the communication system 

(e) A student sitting in the 

reading room 
(v) smaller day by day 

(v) or even a person can choose life 

partner through the Internet 
 

 

 a+v+ii; b+iii+iii; c+i+iv; d+ii+v; e+iv+i 
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